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Prog_11-2

isPrime(n){
if(n = 2){
return ;
} else ifi(n = 2){
for i=2; i=n; i++

ZXTCHED

if(n%i == @){
return

}

console. log("M# isPrime @FAR");
console. log(isPrime(7));
console. log{isPrime(12}); %;&%ﬂéuia—% &ﬁ;yk& ISPr_Ime (j:
EERICEBE D ERIETED,
NMZZlFEe>EEEU REBDHDINIERATHELD,

100 ToFE#E 2,35,7,11,13,17,19,23,29,31,37,41,43,47,53,59,61,67,71,73,79,83,89,97 T7,
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primes = [];
for{ i=2: 1i<=180: i++){
if(isPrime(i) )
primes.pushii);

}

document.write("180LI FOFEEIT

isPrime(i) == true

CHok

+ primes +

T3. ");
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res = [65, 81, 73, 52,

5 841;
ZZCHED

function calculateMean(array){

SElE 134 T,

}

function squareElements(array){

_ _ XX N (BFBDF) (&
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calculateMean(array){
result = @;
forl i=@; i=array.length; i++){
result += array[il;
e
result = result/array.length;
return result;

squareElements(array){
result = [];

for( i=@; i<array.length; i++){
result.push(array[i]++2);

s

return result;

scores = [B65, 81, 73, 52, 84];
variance = calculateMean(squareElements(scores)] — calculateMean(scores):#2;
document.write("4®3 " + variance + " TH%. ");
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